
                                                       mod . T1/G 450

GASKET

Article No. Material COLOR Temperature

96380 NBR WHITE -30°/ 110°C

96381 EPDM GREY -15°/ 90°C

96385 SILICONE CLEAR WHITE -50°/200°C

96386 FKM BLACK -10°/ 250°C

26

19

14

Ø 485

16

6

7

13

5

9

17

3

14

11

8

12

1

15

Item Article No. Designation Qty

1 7TA5900V TELAIO C/SUPPORTI 1
2 7CA5900V COPERCHIO 1
3 9638 GUARN. MOD.T1/450 1

4 95031 VITE TE M12X50 2
5 95036 VITE TE M12X35 1
6 91019 TIRANTE M16 L=170 1
7 94031 VOL. VI165A C/CODOLO 1
8 97052 ROND. §34x§25 SP 3 1
9 95209 DADO M12 AUTBL. 3

10 71059 BRACCIO T1/450 1
11 97045 RONDELLA §30 SP 3 2
12 97348 PISTONCINO SICUREZZA 1

13 95006 VITE M8X20 1
14 97002 RONDELLA §8X24 1
15 95273 GHIERA M16 BLOCCA VOL. 2
16 93007 PIN §12X35 1
17 95421 ANEL. ELAS.§10 1

4 10

2


